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GANPAT UNIVERSITY
B, Tech. sem. III ( CE/IT) cBcs R"egular Exarn. Isov,/De e. - zoLZ

Sub : ( 2IT305 /2CF,305)( IT305/C8305) -- Probability & Statistics
Time : 3 hrs Total rnarks r 70
Instruction: (1) All questions are compulsory.

(2) Write answer of each section in separate answer books
(3) Figures to the right indicate marks of questions

lesli{rrr_J

Quel $2)
(A) Calculate the correlation co * ef'ficient from the following data betn Diastolic Bp (x)

and Cholesterol level (y) of i.0 randornly selected persons .

1101--7
dlr

70 B5 8B 78
267 320 27+ 336

90 7 11.

259 341

(B) Calculate the Spearman's Rank CorreiaLion co * efficient from the following data
between Intelligence ratio and Engineering ratio fronr the following data.
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Quetr"
(A)

0tt

Derive the frrnnula for a line of regression clf Y on X .

(12)

(B )  F rove tha t :  p=  1*
6. xd'

n (n2 -1 )

Que2
(A) From the following data between sales and purchase ; Find two Regression equations

between theni.
(05)

(B) (1) A man can kill a bird once in 3 shots. On this assumption he rrr cs 3 shots . What is (06)
the probability that a bird is killed ?

(2) The probability of a man hitting a target is 1 " tt l'ie fires 7 tirnes ; what is the
*

probability of his hitting the targe t at least twice

OR

96 93 92
92 97 94

121 67 124 73
97 70 9t 39 61
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l
' Qne?

(A) calculate Probable error between x and y fram following data,

(B) Assuming that the probability of a chiirl being a hoy or a girl is equal. Find the
of families out of 400 consisting 3 children each having ;

(1) All boys (2) 2 boys and l girt (3) At most 1 boy

Que3
(A) The no. of accidents in a year attributed to taxi drivers in a city follows poisson

distribution with mean 3, Out of 1000 taxi driverc ; find the no. of driveis with
(1) No accidents in a year
(2) More than 3 accidents in a year
(3) More than 6 accidents in a year

(B) Suppose the waist measurernent W of 800 boys are normally distributed vrith
mean 65 cm. and standard deviation 5 cm. Find rhe number N of boys with

('L) Between 65 and 7A cm. (2) Greater than or equal to 72 cm"

(.r?)

Que:4
(A)

Que:4
, (A)

Section * II

Write a note on various tyhles of classification of data.

(B) Find the average marks of students frorn given data.
No. of Students Marks

Above 60
Above 70

72 Above B0
65 Above 90

Above 40 Above L00
Above 50

(c) The mean of 200 iterns was 50, Later on it was discovered that two itenrs were
misread as 92 arid B insLearl cf 192 and 88. Find the correct mean.

OR

Prove that the surn of squares of the deviation of a set of values is minimum

when it is taken abor.lt mean.
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Above 0
Abw" 10
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(B) Explain Geometric mean for ungrouped and discrete frequency distribution.
Find itfor following data.

Que:5
(A) Define Flarmonic mean and find it for foilowing data.

Class Frequency Class Frequency
0-10 4 30-40 7
l0-20 6 40-50 a

J

20-30 l 0 50-60 4

(B) Define median for all types of data and compute it for given data.
Mar}s No. of Students Marks No. ofStudents
a*4 10 16-20 J

4-8 12 20*24 8
B-L2 18 24*26 4
t2 -16 7 76-28 6

(c) Itt"lt steps of method of grouping & using it find mode fcrr

Que:5
(A) A distribution consists of three components with frequecies3gg, Z00 and 600.

repectively. Thier rneans are L6, B and 4 respectively. Fincl the mean of combine
distribution,

(B) Compute Qr , Qs , Da and psp for given data.
Class 2*2.4 2.5 * 2.9 3-3 .4 3.5 * 3.9 4- /  4 4.5 - 4.9

Frequency 15 9B L89 133 2A J

(3)

(4)

(4)

(3)

t4)

ency. The average is 30.
Class a-l0 1AA0 20-30 30-4A 40-50

Frequency i S t0 ? 20 ,)<
/ . J

X1 ,,
J 4 6 8 9 l0 l i 12 t3

fi 3 8 l0 t2 l o t4 l 0 8 T7 5 4 I
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